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Which of the following notes is the enharmonic equivalent of the given note?
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In a major scale, which of these are minor triads?

(1) Toni¢, Sub-Dominant, Dominant (2) Supertonic, Mediant, Submediant
(3) Supertonic, Dominant, Submediant (4) Mediant, Submediant, Leading note

telded & 18 Qullc s BcEd dnd mosles’ 85 woom ¢?
eiiaumeusstauiBmien Sl Gelren LywiiBenen eCren 185 WssFaflune efeufliiug) sig?
Which of the following best describes the given triad on the stave?

PR
# G
(1) Ib in A Major (2) IIb in F sharp Minor
(3) IV in D Major (4) Ve in F sharp Minor

B ddci0 o8l derdeed eunsitdd guias Dxiesl @085 @ ¢?
Weiteumeuetaumpuenrs B dem’ Coggy en0BGmalled Casetifl Cyuip erg?
Which of these is a secondary triad in B flat Major?
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Fflwmran eflgulenar eflaufiiiug eig?

Which statement correctly describes the rule for forming a second inversion triad in music?

(1) The root of the triad is in the bass, with the fifth and third of the chord above it.

(2) The third of the triad is in the bass, with the root and fifth above it.

(3) The fifth of the triad is in the bass, with the root and third above it.

(4) The third of the triad is in the bass, with the fifth and root above it.

son 880 aneds’ F o@ecits 98ml defced aedines nfed wdd8usid 8ddw dsfes! a0 ¢?
ssraugpeusreupmist F GioBaomgs emwen stoBsealen uGymsemt (psnpuisd sindiguieni erbeuyid sysugl sigi?
Which of the following notes is the submediant of F melodic minor in its ascending form?
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200 tonens grecs Sgdencas Dles! 8 o &?
Leienpid s0Bmedasafllad Ligmerd sr0Bsed 6157
Which of the following scales is a Blues scale?
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- Uaireud Gampaefled ‘Rallentando’ eisinigenn @ smedlur afjdsmdbsd Gared eg?

g 8 aedddo B e wilie®ss 085 dedced 6. 008 ©s.dn deatted ¢dmd gl plie®rSs
8 doPeund® pedéin § e dles 8 ©wdo ¢?
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apmyBuwraids we] aOBHabhET o HANSHIONOTE LIsHL] 61gi7

The given extract is in the key of B flat Harmonic Minor. Which unique characteristic of the
Harmonic Minor scale is featured in this music extract?

— 1

- F—1 71—

' bz o

(1) Lowered 7" degree (2) Natural 6™ and 7% degrees
(3) Raised 7™ degree (4) No accidentals

B 882l dericed 888 6 9siobde ons dxles! 88 oo ¢?
Wshiaupeusnieuimien B enwosny abBaeflar sowan] 6 Sambeousd spous ag?
Which of the following intervals is a Minor 6th in the B minor scale?
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Which of the following is a key feature of Baroque music?

(1) Simple melodies with little decoration (2) Elaborate ornamentation and counterpoint
(3) Electronic sounds and repetition (4) Random and unpredictable rhythms

& 8 Doeor grpecs’ MOE Divvws Ozles’ 823 BOT ¢?
Uedteu(pd eunddumigaisd Lenipuarest sundbalund sig?
Which of the following statements is imcorrect?

(1) Debussy’s music was influenced by Impressionism.
(2) Vannams originated during the Kandyan Period.
(3) The tenor clef is never used by the Cello.

(4) Blues is a type of vocal or instrumental form.

Carnival of the Animals 8¢ SB@reic B0 cled D50 887 ¢?
Carnival of the Animals sysbsdHens Suppued wiry?
Who composed the Carnival of the Animals?

(1) Benjamin Britten (2) Camille Saint-Saéns (3) Maurice Ravel (4) Sergei Prokofiev

‘Programme Music’ esew coonden ecs oo @88 gocus dxles? B3 o0 ¢?
Hareumh Camg sdenisafed ‘Programme Music’ afiUSDE 2 FNyawionGd CETaTenG:amiguigl 6igi?
Which of the following pairs of compositions are examples of ‘Programme Music’?

(1) William Tell Overture / Carnival of the Animals

(2) Bridal Chorus / The Four Seasons

(3) Eroica Symphony / 1812 Overture

(4) Peter and the Wolf / Choral Symphony

‘Rallentando’ w2 ©¢wd 800 o608 ¢ 9o s¢w 83 @ ¢?

Which of the following terms has the opposite meaning of ‘Rallentando’?
(1) Calando (2) Vivace (3) Ritardando (4) Accelerando J

[4 BB BOO Benw. / udb. 4 U Lnjdhs /See page 4
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Which of the following is mot an articulation mark?

¢)) r' (2) r' (&) —— (4).|-
18. ‘@c 800 u» gbida ¢BDm enBumny o¢c B e ¢?
Ueiieupeueameuimielr  ‘ynbugSledphsl’ sl SHHHGGI GUIhdswnel BHHTall Gamed 6g?
Which of the following Italian terms gives the meaning of ‘From the beginning’?

(1) Da Capo (2) Piu Mosso (3) Dal Segno (4) Fine

19. e & g8 Goe0um»0 gmd DikHE OB FIcs ) SEeTD geodein e &2
SO Bsiten eufliuL SaECuhu GeanasGd alHie aaFl & HBHHGID QTG 65?
Which of the following ornaments matches the given illustration that shows how it should be

played?
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L6y ahaIiumsansd GLmAmens 77 Gam' @even (Ifldb@BUIZG Shss G Bl (N6l FrEHMTBITS

BanadaBeauenngul Garl Liaeumeuateuimiel 6157
When resolving a Dominant 7" chord, to which of the following chords does it most commonly

move?
(1) The Leading note (VII) (2) The mediant (III)
(3) The supertonic (II) (4) The tonic (1)

21. C# 885 derd ‘Abrupt Cadence’ dxder? 83 »oon ¢?
Uereumeuaeupmien CH emweniy sb ‘Abrupt Cadence’sig)?
Which of these is an ‘Abrupt Cadence’ in C# Minor?
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22, b8 eni®s eambdes 8z »OTE ¢?
Metteu(meuaieummpien GLerfl Gumb Sisdeonrsg 61517
Which of the following is met in ternary form?
(1) The Ash Grove (2) Country Gardens
(3) Twinkle Twinkle Liitle Star (4) The Sandman

v
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cwn § 18 dhewst ewmigiend, adeds, e0nl o edd vm DODO Budecs’® 928ur Bomed
85 o ¢?
@R syrnn’ Belaneuppiled Gamigm@eam oGy, Gyery CGuad SEEISHMBLD G HEMLTE® (eiienaliLg g7
In which of the following do all S.A.T.B. (Soprano, Alto, Tenor, and Bass) voices perform?

(1) The Trout Song (2) Hallelujah Chorus

(3) Bolero (4) Song Without Words

cdeiSall 203858 gumiss ool BEEE e@RCeted Em8s i overture axe Oz 98 ‘Wedding
March’ do¢ gmes ®aBwd Dxdess 8z 200z ¢?
Lsiamaiaaiifled GCagdediiwg BT &5ST0 STeHTLOU L 11656H6m LDE!TI_GDEET&!ﬂmT Ly LisviomesT
abhsnisefled overture oiFlsd "Wedding March' 2 b o eitenmidlul sydssid 61g?
Which of the following compositions by Felix Mendelssohn is a famous concert overture inspired
by Shakespeare’s play and is known for its “Wedding March’?

(1) Symphony No. 4 (“Italian™) (2) A Midsummer Night’s Dream

(3) Songs Without Words (4) Violin Concerto in E Minor

BRGE gmaw Dxfesd 82 »do ¢?
Lilssraupeueneuimien  sifluimen surdalund e1gi?
Which of the following statements is correct?
(1) Libretto is the text for an overture.
(2) Haydn was called the ‘Prince of Concertos’.
(3) 48 Preludes and Fugues is also called the ‘Well-Tempered Clavier.’
(4) Contralto is the high male voice.

‘New Orleans Jazz’ t3¢w0 eseqs 508 500 dx3ez? 858 oo ¢?
desumeueeuppelt ‘New Orleans Jazz® esiigmanen SaGemneg Guwy eg?
Which of the following is another name for ‘New Orleans Jazz’?

(1) Dixieland Jazz (2) Cool Jazz (3) Blues (4) Bebop

“The Shaker’s Tune’ 8 gio®wm @0 Oxexsd Bt OGS ¢?
Ueirauneueneuimieir “The Shaker’s Tune’ @er sugbu smOGLNMGST a1gi?
Which of the following is the opening theme of “The Shaker’s Tune’?
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SYUILICBeien TS USHIG@ sl CLTmHHBID USD 6187

Which of the following best matches the given statement?

“Every note, instrumental sound, key signature, tempo, and other musical directions are defined
by computer code”?

(1) Digital Piano (2) Sampler (3) Sequencer (4) Synthesizer

S

[6 & 80P DEam. / us. 6 gu uNies /See page 6
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29.

30.

31.

32,
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Peter and the Wolf w8 tewo 65080 D618 9890 B0B @ wodn clvens dsies’ @ ¢7
Peter and the wolf sybadmbars GUIGEBTSECEIaID Waab uwaLBHHL Baoadamp 6s?
What musical element did Prokofiev use extensively in Peter and the Wolf?:

(1) Repeated patterns of music for each character

(2) Musical theme, assigning specific instruments to characters

(3) Using only one set of notes to represent characters

(4) Soft, flowing harmonies for each character

atseonses ‘6 Folk Dances for Piano’ mSs e S@rencdes fed n@m dz B §?
urjGpraeeniar ‘6 Folk Dances for Piano® sy6555156@ SnssiBssns SGhoal 6ibd BT Iger B L my

BFLNGLD?
Which country’s folk music inspired Barték’s ‘6 Folk Dances for Piano’?
(1) Russian (2) Hungarian (3) French (4) German

0 DeSe (Baos) embdes 82 »Oo ¢?
LeaimeseraiBpist amuiIGionfEsTar Siesh SeDTSS 1E?
Which of the following, is mot a vocal composition?
(1) Song Without Words (2) Drink to Me Only
(3) Who is Sylvia (4) Grefchen at the Spinning Wheel

e®ended ‘Variations on Ah! vous dirai-je, Maman’ 8 e300 @iz dm8s ¢80 Bman e@cin Ozlesd
83 oo ¢?
esroupeuenaubmieli  Gomerom’.  @eit  “Variations on Ah! vous dirai-je, Maman’ @il &GUCLTHEHES
gwonen yusotorss Hpeny UTL6d Guosvlg 1?7
Which well-known children’s song uses the same melody as the theme of Mozart’s ‘Variations on
Ah! vous dirai-je, Maman’?

(1) London Bridge is Falling Down (2) Twinkle, Twinkle, Little Star

(3) Row, Row, Row Your Boat (4) Mary Had a Little Lamb

g o 2B Aede eudlo wodm yLmndeasd emd § g8 Odeiw 853 ROS ¢?
Ueseumeneranime Gt Getien GeFSH0sT@Suls SopsBsu BamsbeBuiGamend Clorebi g oig?
What is the correct option that includes the Oriental notation of the given passage of music?

> s —

() ssBed|o_ o |eec@s|6__+
2) tg_zfitamﬁ|®__z%3|esea@3é3[ea+__

@) vedeb|o_ o |0ee®s |8 _+_

« & = ®

@) «6a86|o_o_|eee®o|8_ _+

eude® Bowd and BY €Ddes ne visers 853 »OGE ¢?

LeiaupeuaTaiimel SmpsHBsul BmabBanu Hay aOMNTSESS g 657

According to oriental notation which of these notes can be made “Theevra™?
() Ri (2) Ma (3) Dha (4) Ni

—

[7 B8 800 Deaw. / udk. 7 @0 unbs /See page 7
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36.
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‘B8 em8 emEitnsiBnns’ Bos gl Dx¥exl 82 9O D0D0ed8 &?

\TeTaumd 6bdh BI_spdled ‘sbiytsss) CsrainsbabI@iy LT sd GibtupeEing?

In which of the following Nadagams does the song ‘Gambheera Thedathi*Konsthantheenupure’
occur?

(1) Balasantha (2) Padmawathi (3) Ramayanaya (4) Vidura

goe2ndeddes Budue B8G0 ged noy cAn =0n gnce 85 RO ¢?
Usiaimaiemebisi syesteatys Sury Goad sfums fuyd GFwuz abd (papuled ou@ib?
Which of the following is the correct standard tuning for an Acoustic Guitar?,

(1) ADGEBA (2) DGBEAD (3) EADGBE 4 CGCGCE

gomRs Pl odm woedt) w0 wegm 80 98D €0 ed&n § v dsfes’ 855 wadE ¢?
eileucheueicuBmisii - gemenu  gmen Gensssmalsen &1 guuiGn Gurgm Lpbun G oimnts
SHONSHINOTE RENITE 2 6itengy 61517
Which of the following is the characteristic tone colour of the trumpet compared to other brass
instruments?

(1) Bright, loud, and sharp (2) Soft, smooth, and gentle

(3) Deep, dark, and low (4) Warm, round, and quiet

B edD®m Dugme BB ome v iBs ne vides ewed ¢?
OmFsGw GIIp Bamed@id Curgl Bebeo Ealeul seieuy -2 HAILGHS WguD?
How can you ensure good intonation when playing in an ensemble?

(1) Play as loudly as possible so you can hear yourself

(2) Tune your instrument before playing and adjust as needed

(3) Ignore the other players and focus only on your part

(4) Play in a different key to make your sound unique

Bewcidzs iy Bdedifewidn gnd g ednes Dxiet 88 wods ¢?
@Burm wdmId @BGrmpiiuir el IG]I[_f][[I]&@ S uieonen (psHBlw Coupur® Letauheuateummien um@"
Which of the following is a main difference between an opera and an oratorio?

(1) An opera is only instrumental, an oratorio is sung

(2) An opera is always religious, an oratorio is not

(3) An opera has acting and costumes, an oratorio does not

(4) An oratorio is performed outdoors, and an opera is indoors

edenitidn wep § @8 grneds’ 88uE Bgod 088 &m0 gus O5iess Bl @ &?
Uenawmeusreupmisil GraGasin héstar sybsmiseicd Abilar Quiued ot awiusie o flug as?
Which of the following pieces for the Recorder is in Simple Duple Time?

(1) Moming (2) Shaker’s Tune (3) The Sand Man (4) Soldiers March

* %

[8 &5 BO® edm. / udk. 8 g LTS /See page 8
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General Certificate of Education (Ord. Level) Examination, 2024(2025)
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Musn%: estern ) I: IT|

e.Bme (qeclo) / sadsd (Comeansesuw) / Music (Western) I

1 59 @S0 0r2ed A © B emodols osm e ads eniden, gdn oBEO B 600 oged® |
3565,

1 oup eflem 2 LUl UGH A, ugdH B easiuapieinbs Beelyai® olambsmensd CEflabsdid,
sI6DROKIDIG @hEl NaThEEnGEE BHHTeMGotu allen  &Hhb.

Answer five questions including question No. 1 and selecting two questions from each of the parts

A and B on this paper itself.

[ Ben® qone / s Guen / Index No. ... }

For Examiners’ Use only

(41) Music (Western) 11
Part Question No. | Marks Awarded
I 1 Final Mark
B [ In Numbers ]
2
lln Words J
A 3
4
5 Code Number
fMarkjng Examiner i
B 6 l
Marks Checked by:
7 2
- Supervised by
\ )
Total
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1. om & g B Detds gdnnmns 3 g el gEndco SEnd evwsiz.
BBl syinn’ Geien BensIGHDL SiuBHTalide Gsl sl Bsien allnThboEhHd eflanl_ 61(105I%.
Study the music extract given below and answer the questions.

TRIO Beé‘th.aven
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(1) (a) o®® ©:.8m deftis B B B O @S ¢
@by Bens S ahs & B0 epSULL Baiangy?
In which key is this music extract written?

...........................................................................................................................

(b) @®@ w.dm deided 088 Bderitda Bend oizi.
Bhs Bms oybshdd ey AoGmEsay sllanfdd@s.
Describe the time signature of this music extract.

...........................................................................................................................

[10 &6 BOP Deaw. / ub. 10 gt unhds / See page 10
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(ii)

(iii)

(iv)

)

(vi)

(vii)

(viii)

(ix)

(%)

e®® 2odn Aelens eni® v RO ¢?
Dbs Bens OSHBGHBET angaud wirg?
What is the form of this music extract?

08 wlm deilend Y 629068 BEENeD B e 8853 s,
QbhsH BenF HHBHIE WPHEW uGHsmen Sebseail UT] @eusad apsod GRUIGHES.
Identify the main sections of this music extract and state its bar numbers.

.................................................................................................................................

=g c@ndigedes! 8gon 8 9 w» b gows 8 »oEis.
wpssd Giomgu|Bevageil BHauph & 2 Lsi un GubssdE GUWIILD SHHE.
Name the key and the bar number where the first modulation occurs.

‘A’ ece ey @0 guS b g 7 v § 8 ebsies @ ndizin.
urf @ev 7-8 asueuppied ‘A’ eeiis @EUI® S inn’ L Gaisiienerons GUWIFHS.
Name the cadence marked as ‘A’ at bars 7 and 8.

.................................................................................................................................

(1 mark)
Qs gom 10 8 @0 () oot 888 ¢330 418 500 g¥mde »® wozin.
urf] @evdsld 10 @ed ownLiGE@E () asob sl iul Gsen sbaly BenL Gaisiiulsnsn GUWLIRGS.
Name the interval marked with a bracket (J) at bar 10.

.................................................................................................................................

CO® elm Detend gB ac-wien BERe ©H® BiEH.
Qb Beng DUSHBHHD ©_silen iemboaih Gy HiHb.
Name the ornament in this music extract.

.................................................................................................................................

c®R 6 edlc 98 e08em, O8HBd v Oftegas’ ¢nd S BE GY e endewsd
Sedmd wIsim. :

b GensFliugglenil oimer CnbGLIT, s smilberd, sidberorilyeross asUBIIGCHHBL BsmFbaiuL. Gausmigl
(WPeMBENWF H(HHsns eufdsEs.

Briefly describe how this music extract should be played according to the tempo, dynamics and
expression markings.

.................................................................................................................................

@®0 wolln mBn Eum ¢ B-B®m 6O B OBE VB HE WOBIW.

Bbs B YUbEEHMS WHL BmeFssameoeh] sl Crowrm @8urmelsar CLWmTH HHEb.
Name the only opera written by the composer of this music extract.

.................................................................................................................................

000 wdm ¢3¢ yumded e B derd eI@HEO 7 emidc QDRSS [ weneg »oss®.
@by Bema eoauy eusngiied Gyrelld & @b GLmdensii 7 Gaxm’ Eemenr FHITD [ cpsotd GBEINIGS.
Mark the Dominant 7" chord in the Tonic key on the score using a box [J.

(1 mark) J
[11 &5 809 Des®. / ud. 11 gpu unidbe /See page 11
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2.

(xi)

@

(i)

(iii)

HIULL. @nF be5H0 Cprals & ganflel elssd LBrER Bene REDBAIB DB UIQLLQWITS

‘In the given music extract, identify the scalic passage in the tonic key and mark it with a sign

& 1B w8 dedlod 0Dl B deo dedd vetka vgrveom, te POowS o UBO® o’
Doz BOOO BaBm Erdzns @i CRe Dosin.

@60 aPsfleGr’ algshs @meiusBe 2 flu Gl LWELBHS Sl WTemoHs.

indicating it to be played ‘gradually becoming louder’.
(1 mark)

A e300 /ugsl A/ PART A

8@ gdm ecawd 88 sucsim.
cInaBuisnie @rei® olaiTésendE siml Wellbgs.
Answer any two questions.

F 882} 0@ wom R eusidedrBs tesc desd €00 ewignBBsy ofdmsid edemiics eews
3683 g 0888 @b 4 » cch v Burin. BOGE wecd dwes o eetzsfﬁ@é}zsa’od 010D S Do
DE @ uda ¢SBOnim. (60Besy, erls’ v A8H8HY)

F @b oynblis@ip GusiiGLieflls adBssd @efled abeuimise LLATUGSHS OLebsan. QraGsn maEL
GBS SLomert g @mb 4 LMaEndd Gy etens slupais. Ffuiren densl, SiberdGLsiysdad LWISLIGSS
Bensss Gouswingul (psopullsnerd @HaliniBs. (GroGur, WBy#r, v embldber)

Compose a 4-bar melody in g time for the Descant Recorder using the notes of the Pentatonic

scale beginning on F.
Use the correct clef, accidentals and add performance directions. (Tempo, phrasing and dynamics)

(4 marks)

@@, 00 @d PedE by wie®R O8N dewld void ADD o B8O wew BOGE Berd wo
G8e0H0E vwigstn. ewBediss, el owig e DIBTH.

Bni@ eeu) agm’l b Corai. apriGuralid ewer solssd aear syongme sflumea Qeme 2 L6
OBAGL @10 LWEILGGHSIB. CaiGimaer abBafed o L e @piiinlGes.

Add the correct clef and accidentals to make this a Harmonic minor scale having four sharps. Mark semitones
with slurs.

¢
¢

< T = (4 marks)
G & a8 e®cied B O 5B ndsin. BOSE B Bdexs’dde dmy mC amdan gEledsod 905,
36 90 80 Yend® eQAE Wecd w89 3 & B £Sedded mdn Busim.

gy’ Beiten Gueoiguisr & Gt Gy sme. sfwrer & Falasaens Coiidgs. Cormanin SiaioL ammern
med 965 Ggnaiulsd (195) synnGeien "Gy isi desl LWSLIGSHS Sein L evGrsl b WadiBD e1ipE.
Name the key of the given melody. Add the correct key signature and omit all unnecessary accidentals
and write it in the same pitch using treble clef in the given stave.

'ﬂ.'. - 2 o @F—- o :t.ﬂ-'" F@D’ 4!#.['. s

= |

E=d

|

-
-
1
|

(4 marks) J

[12 88 BQ® Deewm. / ub. 12 gl umiés /See page 12
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2 _3-

() com & 9B og 0S€ gaey 8EO 301058 ©306 vem, O3 O Béowd wwgs & ¢18 DO BOGRO Budm.

(i)

&8 syl Gampeen kil auflesdhgl GQuImdBSwTer NaHHms, (Ba;rrs\)e!,g,n_air OlurmbHE  @enbleunm
NessIbGn S0 syl Qombaemms sfluns e0psHis.

Match the lines of verses given below with the appropriate rhythm pattems and write the words
(syllables) correctly under each note.

(1) A farmer’s dog jumped over the stile, his name was little Bingo.
(2) Now neath the silver moon, ocean is blowing.

(3) My grandfather’s clock was too large for the shelf.

(4) 1 love to go a wondering, along the mountain track.

S N e N S N N Y s B

w3

| .
| S
| .
-
.
| -
-
.
L VI

*E
i
!

(8 marks)

& 1B w08 e300 yedmnds, BOGTD wOssI0 088 BBeridcs 6w adcenS edmw emedm eEes
53O Bnis.

SO Geien Gena erdouy suemismend sfluns sbuaed b AaCads LuEGHH gealulsi CapunG
BeoeoTGHauTm 1068iBID 61(1pGIS.

Rewrite the given score using the correct corresponding compound time signature without altering
its sound.

#

G= .

(4 marks)

[13 &x5 800 Pested. / uds. 13 ggiy unijdes / See page 13
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() 6® wdnrmed end Budnded cun DG gmes o Gusin.
Gens ASGET LUBwl sHesswisl alsiyhme Ueiaumn il wibisems @ 6l H(Hs.
Give a brief description of the composer including the deails given below.

- historical period, year of birth, nationality, important facts about his ﬁfe, his contemporaries,
important works.

.................................................................................................................................
.................................................................................................................................
.................................................................................................................................
................................................................................................................................
.................................................................................................................................
.................................................................................................................................
.................................................................................................................................
.................................................................................................................................

.................................................................................................................................

.................................................................................................................................

(6 marks)
(i) som & g1 08t O cevdeics e8nd oEE noss.
#8yp syl Geenauplcd @eledp ©_FTEnD HhH allenbHGd.
Explain briefly one of the following giving an example.
(a) Lied (b) Concerto (¢) March (d) Prelude and Fugue
(2 marks)

(iii) ©on gE»OEs! Oand 8890 svwsin.
Heiraumid elammassied gamsd el 6upsis.
Answer one of the following questions.
(@) Name a plucked string instrument used to accompany Negro Folk songs and write a brief description
of it.
(b) Briefly describe the English Horn.
(¢) Name two Indian drums and describe one of them.

.................................................................................................................................
.................................................................................................................................
.................................................................................................................................

.................................................................................................................................

.................................................................................................................................
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|

6. (i)

(i)

~

o) ocwBsl el v ¢Eledn aydsl §elobs eBxs ¢ g HIwEIB eM3-0d ©ID
s BB ewsdhesn, erded, eOl wo e wewr Bosim.

GCam’. Gamguilemsd Gmi eied el SILGL alndHled oebyis @ailenTed HTL AU Befien @ gaed

BIsig LGd Ganl gam efsbd GeniyrCem, owdbgn, G, Gued 6updIS.

Write a four-part chord for Soprano, Alto, Tenor and Bass at each asterisk, so that cach pair of
chords form the cadence indicated.

(4 marks)

g 18 tiedBed B&dE el ewig c®8 ©w.8n dedde Bss! donils wew Boxts.
S Beitem aOCre G6d Fflursn denel LUSUBSS BHs5 BenslILGHw Pue aOUBHTT BIBE IpHIs.
Write the following music extract for Open score with appropriate clefs in the given staves.

I ! ] I I | T .:' __“, I T r m
FITR FFr I P A
d 4 J 1d ] J'A»éé’Jl L1y
- - = - uei |ij F‘ “"t?
i-'i_'a lr-r, _[nﬁ_‘[ 1 1 ] r[:!: J
‘; —

(8 marks)

7. () zom & gudes @R ssi8mn@ded & geom eon g edemiils t3:8m w18 ecmm 415®nm Al BBseS.

83 oo enidh & g8 e0ed8 v crens eciesin.

S0 iU Beieneney Bruselt eugliuenpulesd sHn CBSCET T Bens odsmisst Bretiger Sl L) QyESWD.
Beuifisd geenps OFfley Geuwis Sy L Gurguiaust v s wrend SEs.

Given below are the opening bars of two Recorder pieces you have learnt in the classroom.
Select one of the pieces and mark the given box with a tick v.

L
iad

(@) w0853 8 B Bcdend 00 miBed 5O t® Oo By soBmwe sewst Dosim.
Write the name of the music extract and the composer in the given blank below.

HIOUCL Gleupfidalsd Dol Bmar SubmdHAen G, Bens eiEGH QU] seusabBmms GBIGS.

(1) Name of pICE . vunmmsssiusssnmesssuass (2) Name of COMPOSOE ..vivusvsssinsivvseisssgsossrons
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OL/2024(2025)/41/STE-I, I1

4, ©9aCE Becnd By e¥cdn wlie®imnde B8O new 6@t Held8 odl® grwe®s (s g Jude eEOD
IS5, 5B, ewdd oce 80w g 688 Basin.

COmie HGsne Bev eupmHiI Beitan Guosogenul amrjCioTenered CFuiaigBE Guerd oBrel Bsd o Gymo
Bvdanimeisd HTLLOULGeren Lywied GyriLp 1enfth, Benfb, @oprar ser fswdg 2 fuelsdhsed
SI(DEID.

Write triads shown by the Roman numerals, accordingly as Dotted minims, Minims or Crochets in the
Bass stave to harmonize the melody written in the Treble clef.

)l[! I | * | TP | i 4 lq L Y
P B Y LS A I I 5 T ¥ D P ] t ¥
i SR e s
[y - ] &
1‘.{“\-3
il LIS 7 P £
Ayt N
il 1
1 o 3
v Vi Vb b iib Ic A% I

(12 marks)

B emdm / ug# B/PART B
B27® adm ecpnmd B8End moaninm.
slemauBLignd @eir® alembsenbe aflenlulaid@s.
Answer any two questions.

5. (i) @b 8 cochus Bbereis 85O tcws Om® HO8E On u8n gBctnd culdes vy I @8 e@ciu
s®ylien o, meess ed8em, 6. m L8x8E whgbe: eBcDeD ewigzin.
Ly 8 Guosviganul ® (HRITEGMBHEG: GO senralsd LK CanBbmr_jsmen ey CHydhE Hpbiosigeniis
L Tenr LB HEID.
Guirgpdsiore GQnoGun, NGy, Lanfbabd asiueBamB Py Gwevigup b BadheEs.
Complete this melody by adding an answering phrase in the same style to create an 8-bar melody.
Add suitable marks of tempo, phrasing, and dynamics to the whole melody.

i'!u— 5 E:"P P A\ ;-I.r : - ]
b O o P _,H #:
S e e = = ——
1

[}

(6 marks)

0®® 020 ©.BD $0J & #18 edded AO8J =-Bn £B0 exig gtdms on ®IBIH.

gy’ Beien SemipsGohur Gems eoaugrimenet BoanadBaHiw ebauEGsTTE WM SyOUBsien aoGEge
Bad 6I(1DHIB.

Convert these oriental notation into Western notation and write it on the given staves.

(i)

s_o_B|e_o_|coBes8ale_—-|
S wubee|d o |Bos_0|e___|

(6 marks)
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G comu Bwow eeminme@uigt § s Geno e Jﬁfmokmw
Sworsams L s s @orembadns @eumens L e 2 A S T
I'Jl.parr.n\ul of Examingtions, & Lanka Departineat u1 I@

B @um Bros m{,n‘.umwmm‘g # pome Bow
Sooaama LfiZensh  Henew A eI

s

goOBBD @3¢ ww&m on (0@s evg) %amcs, 2024(2025) )
Se06ill GUTHIS SITHIL LS (FTHTFem Syl ufi g, 2024(2025)
General Certificate of Education (Ord. Level) Examination, 2024(2025)

wBma (gudtn) LI e Dl A

FhiEHD (ComegBau) LII AP LOGRISFNITEOLD

| Music (Western ) L1I Three hours )
GO0 HxDP e - 855 108

Cuevgls emrdlny Gmrd - 10 Bl _miseir
Additional Reading Time - 10 minutes

gons SxOImem o oue Bat oo eoit MBS0 BENGL EDe8E CRITEG ece B W.BMNaE B0 M0

aflariussirsms ansFlisn, dsarsseaeas AsflaQFuasiegd ol awsbCurgdy wsigflow aPpBigD
allearssanst Quurismwhis Qsrdashcd Cuads arding CEIsasl LUEUGSHEIS.

Use additional reading time to go through the question paper, select the questions you will answer and decide which
of them you will prioritise,

B (qea2o) / shdsb (Gwsmestsu) / Music (Western) T

[ coecs:/ opiambsoss Instructions: )
#* Bog @ ydmdEd 88nd; vuesis.
aTevsur  ellamSHeEnE@ID aln.  Hms.
Answer all questions.

¥ 140 emesd g (1), (2), (3), (1) SExndidRx BOGT evl Dy vgeum vl BERD emid vim.
1 Gem_gmn 40 eusnywsien geitenmm slsmeignd (1),(2),(3),(4) asn sremienfl 1’1 eflem_sefled Fiftwimen
Si6060%H1 WBL CLIT@hGHITEr sfsmmup GgiflaGaus.
From each of the questions 1 to 40, pick one of the alternatives (1), (2), (3), (4) which you consider
is correct or most appropriate.

¥ 200 swoewm BEnd vped o duf ydunw sgwm 2 418 B gneds’ @ ewid ol BEpel &awwd
ey oo e (X) cae ewigzsin.
2 wHEG alphiIsLILL Beerr allenLsaraflsd @aCam®m eailameased 2 flu an Lksaflsd 2 105
aflemLullslt @Qeviabamsd @bs L SHaienbsr Usiismgenws (X) BBs.
Mark a cross (X) on the number corresponding to your choice in the answer sheet provided.
#* 00 B8nd vged Bfowm € ¢l gend cueed ¢ seBdecs Sad, gD ¢ BEuiuim.
ailent_gHrefat WwWBILIGEHB0 SIOULGsTeN wHoBU JATQMISHS0SMENLD Seualons suTdhHes isuBepl
Uilsdiusb .
Further instructions are given on the back of the answer sheet. Follow thcm careﬁllly

) —

1. 2 38 wo8n 2ad0wd pey 088 8deslddn Bsfes! 0801823 o q‘?

SIUULL. 85 BosFrsHtHGHEGL urhdHdoTa afbAsCarssy Gammel 65’
Which of the following is the correct time signature for the given rhythmic pattern?

24

ﬂ—mﬂ :'-'
o ¥ @ 2 3 3 4 %

2. € g8 O dend LOobe geusied dnneds moos Dxles e®nis w0 ¢?
SyuuLGeiten LTT Seisiien eauRISals CLBIOTSS0 SEnyamdlsd:s Finonagl Lt bsuaiaibpien g’
Which of the following notes is equivalent to half of the total value of the notes in the given bar?

1 o @ [ 3 [ @ [
V,

[2 &5 80P Desw. / udk. 2 gl uriks /See page 2




